Math 099 - Spring 2011 - Test 3

&
Instructor: Dr. Francesco Strazzullo Name Md 7
Instructions. Only calculators arc allowed on this examination. Point values of each problem are indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. (15pts) Gas price is $3.50 per gallon from Monday to Thursday. What is the price of gas on Saturday

if during the weekend there is a 15% rise?
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2. (15pts) Solve the proportion
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3. (15pts) From our last test we have the following percents: 80, 72, 98, 65, 88, 90, 78, 77, 84. What arc
the median and the average percents?

o) O Sl THIS Sara (X Zeur T (@ ] \ED [
A DLl (S YA 177 7ouR | \ W ,\(LJH‘_J
T |V 16 CALLVIATIN o W1 Do W (_5_71 Q,UI )
TYQ“; : Q,n/l\? ! /9;/}1- ‘

™

L

s ——

herd  Seregt  Mead op, medge .
N ; k C203. - @"
\b/ Hasb S - Mear = AetA(E = _,fé()i‘ (2 F'9’ =t = gi%

MedAe 7 65, ) 80, . 18—  mehNg~ = 50



4. (15pts) Use proportions to find 2.
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5. (18pts) Jane brakes her piggy bank. She finds 145 coins, in dimes and quarters, for a total valne of
$26.5. Jane is cight and she is happy for that. How many of each coins docs she have?
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6. (17pts) Solve the system of linear equations
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